H & 0l & AHS B Ml A

FA S E
Z: 51E B
EPl: SHEZSMMF MAGHEZSHNFH2E SEIH) (CHe ® <)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M s 649,593 3,572,834 N2,923,241
otd dH 517,000 590,920 AT3,920
SHEZSMINF AL (CHESHMFZE SE3IH) 517,000 590,920 AT3,920
MM 28 £ 2el 517,000 590,920 AT3,920
201 fer= 3| 7,000 46,920 239,920
01 At 2|l 5,000 44,920 A39,920
Oget=EH| 5,000
—QHLHE MIA 200,000 * 107K 2,000
—=ME A28 7Y 3,000,000& 3,000
02 S3=4gl 2,000 2,000 0
OZ2Z22=ZHAl 2,000
—2ME IINEZ & SURS
200,000& *10E 2,000
401 AlEHIZ SO 500,000 500,000
01 Al&H| 500,000 500,000
OSMHH A 500,000
—=MZ =2 UAdHA
300,000,000 300,000
—otM S UMY SEE02 Jlgtxd
200,000,000 200,000
405 AHAHE S 10,000 10,000
01 AL =S F=HI 10,000 10,000
OZMg ZIHIE 7Y (=HE, AXt &)
10,000,000& 10,000
A2 (LHSZ) 132,593 131,873 720
QIA2HHI(SHEZSMHHF2E SE3IH) 132,593 131,873 720
IR HH|(EE) 132,593 131,873 720
101 e124d| 132,593 131,873 720
02 JIEtX == 132,593 131,873 720
OFsFl=:by 132,593
—=0 (2501 4) 3,635, 7003 2H*12& 87,257
—JIESE 2,160
<= At 40,0002 x2&* 12 960
JIE+ 20,0003 x5& * 122 1,200
—d2sgtt=s 3,120
254~30= 018t 130,000 x2&* 12 3,120
—3=2+ 3,635, 7002 x50%+2H <22 7,272
—ZU2RY
11,0023 »40A| 2H2H 122 10,649
— NG 140,000 =2 * 12 3,360
— e 22| 175,000 x2&* 122 4,200
—telgss 50,0002 x2& =122 1,200
—ZE3JHI 3,635, 7002 x60%*2H <22 8,726
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